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An active king is an advantage in almost all
types of endgame, but is particularly so in king
and pawn endings. There are several reasons
for this; if nothing else, an active king may
more easily attack the enemy pawns, but it can
also act to confine the enemy king. In the
above position, the pawn-structure is symmet-
rical, and White’s only advantage lies in his
king position.

1 216!

The only winning move. After 1 &f77? (1 g4?
g5 2 &f6 h5! is similar) 1...&h7 2 g4 g5 3 &f6
h5! Black draws, because two h-pawns are no
better than one, while after 4 &xg5 hxgd 5
hxg4 g7 we have the draw of 2a.

1..&h7

1...g5 2 g6 wins both pawns.

2 g4 g5

Or 2...h5 3 g5 h4 4 &f7 and the pawns fall.

3 &f7 h5

Black tries the same trick of liquidating his
h-pawn, but with the king on f7 it meets with a
surprising refutation.

4 h4!

Whatever Black replies, White gains a passed
g-pawn which proves decisive in view of the
black king’s vulnerable position.

4...gxh4

4...2h6 loses to 5 2f6!.

5 g5 h3 6 g6+ <h6 7 g7 h2 8 g8 h1¥ 9
WooH

Active King
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In this typical practical position, White has
three advantages: better king position, unbro-
ken pawns, and the flexibility to advance the h-
pawn by one square or two.

1 h3!

White needs to be able to support a later g4.
After 1 h4? ©f7 2 ©h6 &6 3 &h7 &7 White
cannot make progress.

1..&f17

1...2h7 2 &f6 and the e-pawn drops straight
away.

2 &h6 16 3 g4

White must prevent ...
king also becomes active.

3...h4

The best try, as after 3...hxg4 4 hxgd &f7 5
g5 White wins comfortably.

4 g5+ 25 5 g7

An advanced king position often results in
the attacker’s king penetrating behind the en-
emy pawns.

5..&xf4 6 ©xg6 e5

Black now has his own passed pawn, so the
result is not entirely clear, but White has it all
worked out.

7 &f6

The simplest, although 7 &h5 also wins.

7..4826e39g7¢210g8% el 11 Woq+

White can force the exchange of queens,
leading to an easy win after the h-pawn falls.

11..2e3 12 We6+ 1-0

&f5, as then Black’s
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As always, there is plenty of scope for things
to go wrong over the board. This position is
winning for White because his king can reach a
very active position, but the win still requires
accuracy.

1 2h2 b6 2 g3 L5 3 24!

From this square the king threatens to go to
both g5 and e5. 3 2g4? is wrong as 3...h6 4 &f4
&d5 gives Black an easy draw.

3..&d4

3...h6 4 Le5 followed by ££6 is an easy win.

4 &g5 2e3 5 h4?

White pushes the wrong pawn. 5 g4! (5 &h6!
also wins) 5...%f3 6 £h6 &g3 7 &xh7 &xh3 8
g5 followed by &xg6 was correct.

5..&12

Now Black’s king also occupies an active
position behind the white pawns, which should
have been enough to draw.

6 g4 &g3 7 h5 &f3?

Throwing the draw away. 7...gxh5! 8 gxh5
@13 is correct; after 9 h6 &e4 10 16 &d5 11
g7 Le6 12 &xh7 &f7 Black’s king arrives
back just in time to draw.

8 h6!

Fixing the weak pawn on h7.

8..2g3 9 &f6 1-0

After 9..2xg4 10 2¢7 g5 11 &xh7 213 12
g6 g4 13h7 g3 14 h8W g2 White has a techni-
cal win (see 76a). One possible line runs 15
Wh2 &2 16 &f5 &f1 17 Wi+ Le2 18 We3
f1 19 W3+ &gl 20 14 2h2 21 Wh5+ gl
22 &g3 &f1 23 Wd 4.
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A word of caution is in order here. If your
king has advanced up the board to occupy an
active position, you must be sure that your op-
ponent cannot create a passed pawn, because
your king may be too far away to stop it.

This position is a draw despite White’s ac-
tive king position, the reason being that the
doubled pawns weaken White’s pawn-structure
and allow Black a chance for a breakthrough.
Had the pawn been on h3 rather than g3 then
White would indeed have a winning position.

1..h5

Black rightly seeks counterplay by pushing
his pawns.

2 2d5 7 3 Le5 g6 4 Leb6 g4 5 2d5

5 &e5 Lg5 6 Ld6 Lf6 also leads to a draw.

5..216 6 £d6?

Instead of choosing the safe 6 &d4, White
advances his king in the hope of playing it be-
hind the pawns after something like 6...&g6 7
&e6 Lg5 8 Lf7 (although in fact even this
would not be enough to win). But he has forgot-
ten an important point.

6...f4!

Now 7 gxt4 h4 and 7 exf4 h4 8 gxh4 g3 both
force an unstoppable passed pawn, so White re-
treats his king, but too late.

7 &d5 h4! 8 &xed £3 9 gxf3 h3 10 fxg4 h2
11 f3 h1Y

The queen makes mincemeat of the white
pawns.

12 &f4 Whe+ 13 Led Wes 14 ©d4 Wes+
0-1
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In a king and pawn ending, there are no
pieces around to stop a passed pawn, and if the
king is too far away, a passed pawn will auto-
matically become a queen. Thus it is often
worthwhile to sacrifice some pawns in order to
create a passed pawn. We have already seen an
example of this in 10d, and it is worth looking
at some further cases because they frequently
arise in practice.

The above example features a classic break-
through idea. Black is a pawn up and has a win-
ning position, but White has one trick left.

1 h5 b3?

Black could have prevented the breakthrough
by 1...g6, with an easy win after 2 hxg6 hxg6 3
fxgb fxgb 4 Lal b3 5 axb3 Lxb3.

2 axb3?

Black has no serious threat, so 2 g6! would
have won here (2...fxg6 3 h6 or 2...hxg6 3 f6).

2...&xb3?

It’s a little more complicated now, but 2...g6
would still have won: 3 hxg6 hxg6 4 fxg6 fxgb
5 ©c2 La2 6 23 &bl 7 ©d4 b2 8 &4 (8
&e5 ©xb3 9 216 a4 10 2xgb a3 11 &f7 a2 12
g6 al¥ wins for Black — see 76a) 8...&c2 9 b4
axb4 10 &xb4 £d3 11 &b3 Le4 and wins.

3 g6!

This time White has the right idea.

3...hxg6

3...fxg6 4 ho is the same.

416 1-0
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White won with a typical breakthrough in
which four pawns form a square: 1 f5 g5 2 g4!
(here it is) 2...2d6 (2...hxg4 3 h5 promotes) 3
gxh5 1-0. After 3...%e7 4 hxg5 fxg5 5 &f3 &f7
6 g4 &6 7h6 White wins Black’s last pawn.
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While this breakthrough can occur as a result
of accurate play, as in 11b, it also often arises
thanks to a blunder. In this position Black would
have no trouble drawing after the safe 1...&e5 2
&e3 g5 3 a4 b6 4 bS. Instead he played 1...g6?
but lost after 2 g5! e7 (Black can just about
stop the h-pawn, but then White wins by mak-
ing a passed pawn on the queenside) 3 gxh6
&f6 4 h7 g7 5 hxg6 fxg6 6 ¢5 &xh7 7 bs
g7 8 c6 bxc6 9 bxc6 1-0.
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A breakthrough may be effective even if the
resulting passed pawn can be stopped by the
enemy king. In this example, Black is a pawn
up, but he should not be complacent. If he can-
not break through with his advanced kingside
pawns, then he will face problems on the queen-
side.

1..g6?

Missing his chance to win by 1...g3! 2 fxg3
hxg3 (2...h3?7 doesn’t work here as the white
king can stop the f-pawn after 3 gxh3) 3 hxg3
f3 4 gxf3 exf3 (Black’s f-pawn cannot pro-
mote, but it ties White down and gives Black
time to advance his king to an active position)
5 &d2 Lg6 (creating a protected passed pawn
by 5...e4 also wins) 6 e4 &g5 7 Le3 g4 8
&f2 a6! (reserve tempo) 9 a4 a5 and White
loses his g-pawn and the game.

2 h3?

White could even have won here by 2 g3!
(definitely ruling out any kingside breakthrough
by Black) 2...&f6 3 c5! (opening a path for the
white king) 3...hxg3 4 hxg3 &e6 5 &c4 fxg3 6
fxg3 bxc5 (6...2d7 7 cxb6 axb6 8 &d5 picks up
the e-pawns) 7 @xc5 a5 8 ad e7 9 &d5 &f6
10 &d6! (a key point; 10 &xed? Le6 only
draws, but this way White wins all Black’s
kingside pawns) 10...2f5 11 &e7 &g5 12 Leb
and the enemy pawns fall one by one.

The move played falls victim to another
breakthrough.

2..£3! 0-1

Black will promote a pawn.
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N. Weinstein — Rohde
Lone Pine 1977

It’s easy to overlook a breakthrough that
doesn’t fall into one of the standard patterns. At
first sight, White is doing well here in view of
Black’s doubled queenside pawns, but in fact
Black has a winning position. If White does not
play c4 at once, Black’s b-pawns effectively re-
strain White’s queenside pawns, while the dou-
bled g-pawns give Black the possibility of a
kingside breakthrough (see 10d for a similar
situation).

1c4

The only chance, as after 1 &e3 g5 2 f3 exf3
3 gxf3 &e5 Black will make an outside passed
h-pawn.

1...bxc4 2 a4

After 2 &xc4 g5 White has nothing better
than to transpose with 3 a4.

2...85 3 &xc4 h4?

Reversing the result of the game. Black could
have executed a breakthrough by 3...f4 4 gxf4
(4 a5 bxa5 5 bxa5 h4 wins for Black) 4...gxf4 5
&d4 e3! (but not 5...f3?, when 6 g3 blocks the
kingside and wins for White) 6 fxe3 f3! 7 gxf3
h4 and the passed h-pawn promotes.

4 gxh4 gxh4 5 ©d4

Now everything has turned against Black.
He can no longer make a passed pawn on the
kingside, while White can create an outside
passed pawn on the other side of the board.

5...2€6 6 a5 bxa5 7 bxa5 £d6 8 a6 £c6 9
es

Closing in for a hearty meal.

9...&b6 10 Lxf5 Lxa6 11 Lxed 1-0



